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WORD OF THE DAY |

FORMIDABLE
(ADJECTIVE): (qa¥fid & dTe):

intimidating
Synonyms: forbidding, redoubtable

Antonyms: comforting




WORD OF THE DAY IMAGE




SPELLING ERRORS




Directions: In each question below, four words printed in
bold type are given. These are numbered (A), (B), (C)
and (D). One these words printed in bold might either be
wrongly spelt or inappropriate in the context of the
sentence. Find out the word that is inappropriate or
wrongly spelt, if any. The number of the word is your
answer. If the words printed in bold are correctly spelt
and appropriate in the context of the sentence then mark

(E), i.e. 'All Correct’, as your answer.



1. Ramesh had an aversion (A) / to alcohol
and would (B) / avoid going to partyes (C) /
with his friends. (D) / All correct (E)

Correct Option: C
The correct spelling is ‘parties’.

Hence, option C is correct.




2. Lucy was working (A) / overtime because (B)

/ she had to prepare (C) / for an important

meating. (D) / All correct (E)
Correct Option: D

The correct spelling is ‘meeting’.
Hence, option C is correct.




3. Roshni was found (A) / of pets and she was a
proud (B) / owner of many unique (C) / animals.
(D) / All correct (E)

Correct Option: A
Replace ‘found’ with ‘fond’.

Hence, option A is correct.




4. Ahmad was not only very intelligent (A) /
but also very sincere (B) / and would always
strand (C) / first in his class. (D) / All correct

(E)

Correct Option: C
Replace ‘strand’ with ‘stand’.

Hence, option C is correct.




S. The kidnappers (A) / asked for ransom (B) /
and threatened (C) / to kill Mr. Gopalan’s son
if their demands (D) / were not met. All
correct (E)

Correct Option: E
All are correct

Hence, option K is correct.




6. Poor posture (A) / can lead (B) / to
muscular (C) / problems (D) / in later life. All

correct (E)
230

Correct Option: E
All are correct.

Hence, option K is correct.




7. The pump (A) / shut off (B) / as a result (C) /
of a mecanical (D) / failure. All correct (E)

Correct Option: D
The correct spelling is ‘mechanical’.

Hence, option D is correct.




8. Copeing (A) / with her mother’s long iliness (B) /
was a heavy load (C) / to bear. (D) / All correct (E)

Correct Option: A
The correct spelling is ‘Coping’.

Hence, option A is correct.




9. Even though the state has been witnessing (A) /
deaths on a daily basis, (B) / it has not hindered
(C) / the festivity (D) / spirit of the people. All

correct (E)
0:30)

Correct Option: D
Replace “festivity’ with ‘festival’.

Hence, option D is correct.




10. Solving the energy challange (A) /
requires behaviour (B) / change and new
technological (C) / approaches. (D) / All
correct (E)

Correct Option: A
The correct spelling is ‘challenge’.
Hence, option A is correct.




11. The first thing that catches your eye
(A) / in this building (B) / is the flour (C) /
with laser lights. (D) / All correct (E)

Correct Option: C
The correct spelling is ‘floor’.
Hence, option C is correct.




12. The service (A) / sector has contributed

(B) / significantly (C) / to the economic grow.

(D) / All correct (E)
230

Correct Option: D
Replace ‘grow’ with ‘growth’.
Hence, option D is correct.




13. IT Companies have (A) / been allotted
landing (B) / in this area to develop (C) / and
start their operations. (D) / All correct (E)

Correct Option: B
Replace ‘landing’ with ‘land’.
Hence, option B is correct.




14. Other then (A) / the regular incentives,
(B) / the government (C) / is offering land

sites at concessional (D) / rates. All correct

(E)
Correct Option: A -

Replace ‘then’ with ‘than’.

Hence, option A is correct.




15. Mental (A) / disordors (B) / have become
Europe’s largest health (C) / challenge (D) / of the

21st century. All correct (E)

Correct Option: B
The correct spelling is ‘disorders’.

Hence, option B is correct.




16. By created (A) / the most precise (B) / lunar
gravity (C) / map, scientists (D) / hope to find out
what is beneath the lunar surface. All correct (E)

Correct Option: A
Replace 'create’ with ‘creating’.
Hence, option A is correct.




17. The book is full (A) / of updated (B) / and
contemparary (C) / commentary. (D) / All correct

(E)

Correct Option: C
The correct spelling is ‘contemporary’.
Hence, option C is correct.




18. Now, electromic (A) / mail is becoming the
primary (B) / tool for exchamging (C) /
messages. (D) / All correct (E)

Correct Option: E
All are correct.
Hence, option K is correct.




19. My overall (A) / financial (B) / goal is to
build (C) / suffecient (D) / wealth. All correct

(E)

Correct Option: D
The correct spelling is ‘sufficient’.

Hence, option D is correct.




20. i. The car knocked at [A]/against [B] a
cyclist.

ii. I enjoy to listen [A]/listening [B] to music.

iii. Are you anxious for [A]/about [B] my safety?
iv. The beggar was heard weeping [A]/to weep
[B].

A) AAAA
B) AABB
C) BBBB

D) ABAB
E) None of 1

ct Option: C) BBBB
€S



HOME WORK

A book is a book,

there is nothing in it.
a) If
b) Although
¢) Yet
d) But

e) None



o

Home Work Answer

\—/

Students from around the world have
increasing started opting to online
education.

A has increasingly started opt to

B have increasing starting opted to

C have increasingly started opting for

D have increasingly starting opting for

E No correction required






